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WARP simulation
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• Warp is Installed(?)

• Cannot run simulation scripts



Time Resolution 5cm vs 10cm
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Event Selection (rule out low energy)

• Top/Bottom

Δt0 (Left – Right) < FWHM

height (Left PMT of Q)



Time Resolution 5cm vs 10cm
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Time Resolution 5cm vs 10cm
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Two Gaussian(gaus + gaus) Fitting

• # of events : 30,000

• dt cut : Δt0 (Left – Right) < FWHM (top, mid, bot)

• Position : 85cm ± 2.5cm

• Sigma (narrow) : (10cm) 89ps / (5cm) 99ps

• chisqr / ndf : (10cm) 1.12 / (5cm) 0.93

t0avg(2nd bar) – t0_ref



Calculation Method

• t_avg(top) – t_avg(mid) …
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Time Resolution Lin vs Bes
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